Efficiency vs Dxy(PV)

efficiency vs dxy(PV,

0.8,

[0 AT EERES EECT R
0.6:— ......................................
0.5
0.
0.
0.2
0.
o ATH
1.05F H
I
0.95FF1-¢
%20 15 20
TP dxy(PV) (cm)
—=— DQM_CKFFit_1000evt
—— DQM_CKFREFit_1000evt
—— DQM_MKFitREFit_1000evt
| Efficiend —— DQM_TESTOLHIT_1000evt

efficiency vs dxy(PV)

Ratio

8-06-04-02 0 02 04 0.6 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

efficiency vs dz(PV)

Ratio

]

o
©

e ———— p—— p—— T T -

0.2

T
——ae———

0
TP dz(PV) (cm)




	Contents
	Page 1


